
HW#5 - Selected solution  
 

8‐18. The standing‐wave ratio on a lossless 300‐(Ωሻ transmission line terminated in an unknown load 

impedance is 2.0, and the nearest voltage minimum is at a distance 0.3λ from the load. Determine (a) 
the reflection coefficient Γ of the load, and (b) the unknown load impedance ܼ . ௅

 

a) From (8‐91), 
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From (7) on p.13 of the lecture note,  
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b) From (8‐88) 
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8‐24. A dipole antenna having an input impedance of 73‐(Ω) is fed by a 200‐(MHz) source through a 300‐
(Ω) two‐wire transmission line. Design a quarter‐wave two‐wire air line with a 2‐(cm) spacing to match 
the antenna to the 300‐(Ω) line. 

 

For a 
4
λ
 lossless air line,  

(8‐43):  ①
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(11) on p.17:  ( ) ②1483007310 Ω≈×== LZZZ  
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